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BEANRE SHTEENABEEBHENERERER

£ b R - kTR By #H = B E W OE
B &R 10,679, 728
IE - ABEERMER 10,679, 728
I%E - ABEEHER 10,679, 728
EEAGE 10, 370, 400
IE - RAEEHER 10, 256, 400
1 IE - AEEHERD A 12. 00 39,900 478, 800
A
2 I%E - FAEEREHO HELEME 12.00 814, 800 9, 777, 600
A
Wi - |RE 114, 000
3 i - mE EFH. PR, EBETH 1.00 114, 000 114, 000
=
EEZE 309, 328
EXARE 97,776
4 EERARE 1.00 97,776 97,716
=
EFTEHERRE 195, 552
b BEEHEERRE 1.00 195, 552 195, 552
=
EBRRRE 16, 000
6 EEHRESE 1.00 16, 000 16, 000
=




WiEE SHEENBELZEHMENEHERER
% g - KSR B 2 fiff & % w ZE

E#R 10,370, 400 + 309, 328 10, 679, 728
EEAGE 10, 370, 400
EEEE 309, 328
T DR 10,370,400 x 42.86% ( 30% + (1 — 30%) ) 4,444,753
E TR 10,679,728 + 4,444,753 15, 124, 481
—REEES 15,124,481 x 53.85% ( 35% = (1 — 35%) ) — 9,014 8,135,519
ES LT 15,124,481 + 8, 135,519 23, 260, 000
EBEREHELE 23,260,000 x 10.00% 2,326, 000
ES E T 23,260,000 + 2,326,000 25, 586, 000
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&5 1
& IE - AEERERD BERME 1TH&Y
% 5 R - BRTE BAfL = B 28 i i
BEEE T E HER (A)
A 0.70 57, 000. 00 39, 900
= it YE%HEh - 1.008 39, 900. 00 39, 900
&5 .2
& IE - AEEREHNQ BLUEME 1TH&Y
% r R - BIRTE BAfL = B O{f 28 i i
LTS HEm (C)
= 1.00 814, 800. 00 814, 800
= it YE%HEH - 1.008 814, 800. 00 814, 800
&5 :3
B 19iE - WG ETFE. PR, EBTTH =1
% r R - BRTE BAfL = B O{f 28 i i
EEETE HER (A)
A 2.00 57, 000. 00 114, 000
= it YEZHeH - 1.00K 114, 000. 00 114, 000
&5 .4
2% BHARE =1
% r R - BRTE BAfL = B O{f 28 i i
EHARE
= 1.00 97, 776. 00 97,776
= it YEZHeH - 1.00K 97,776.00 97,776
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&5 :5
2 EERERARE =1
% 5 R - BRTE BAfL = B ) i s &
BEMERR
= 1.00 195, 552. 00 195, 552
= it YEZHeH - 1.00K 195, 552. 00 195, 552
&5 :6
2% EBHRRE =1
% r R - BIRTE BAfL = B ) i s &
XBHRRRE
= 1.00 16, 000. 00 16, 000
= it YEZHeH - 1.00K 16, 000. 00 16, 000




